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	 1.	14 twu ls 15 tqykbZ 2018 rd :l esa vk;ksftr iQhiQk 
(FIFA) fo'o di esa dqy fdruh Vheksa us Hkkx fy;k\

	 (a)	 32	 (b)	 34

	 (c)	 36	 (d)	 30

	 2-	fuEufyf•r ns'kksa esa fdles ç/ku ea=kh eksnh us 11 ebZ 
2018 dk ^jkek;.k lfdZV* dh 'kq#vkr dh\

	 (a)	 Jhyadk	 (b)	 E;kaekj

	 (c)	 usiky	 (d)	 baMksusf'k;k

	 3-	mÙkj çns'k esa ^iwok±py ,Dlçsl ekxZ* fuEufyf•r esa 
fdl uxj ls ugha xqtjsxk\

	 (a)	 iQStkokn	 (b)	 cLrh

	 (c)	 vktex<+	 (d)	 eÅ

	 4-	la;qDr jk"Vª ds ̂ bZ&xouZesUV lwpdkad] 2018* ds vuqlkj 
Hkkjr dk dkSu&lk LFkku gS\

	 (a)	 90 ok¡	 (b)	 95 ok¡

	 (c)	 96 ok¡	 (d)	 99 ok¡

	 5-	fuEufyf•r jkT;ksa esa dkSu ebZ&twu 2018 esa fuikg ok;jl 
chekjh ds çdksi ds dkj.k ppkZ esa Fkk\

	 (a)	 fcgkj	 (b)	 dsjy

	 (c)	 gfj;k.kk	 (d)	 xqtjkr

	 6-	Hkkjrh; jk"Vªh; fMftVy iqLrdky; twu 2018 esa çdk'k 
tkoMsdj }kjk fdl uxj esa jk"Vª dks lefiZr fd;k x;k\

	 (a)	 csaxyq#	 (b)	 gSnjkckn

	 (c)	 fnYyh	 (d)	 psUubZ

	 7-	oSf'od 'kkafr lwpdkad (thihvkbZ)] 2018 ds vuqlkj 
fo'o esa Hkkjr dk dkSu&lk LFkku gS\

	 (a)	 136ok¡	 (b)	 137ok¡

	 (c)	 138ok¡	 (d)	 134ok¡

	15-	ok¡ çoklh Hkkjrh; fnol tuojh 2019 esa fdl 'kgj esa 
vk;ksftr gksxk\

	 (a)	 okj.kklh esa	 (b)	 onksnjk esa

	 (c)	 t;iqj esa	 (d)	 iw.ks esa

	 4-	tqykbZ 2018 ls /ku dk çfr dqary U;wure lefFkZr 
ewY; (,e-,l-ih-) 2018&19 ds nkSjku gS

	 (a)	 `1]550	 (b)	 `1]650

	 (c)	 `1]750	 (d)	 `1]950

	10-	fuEufyf•r esa fdlus tqykbZ 2018 esa ikfdLrku dk 
lalnh; pquko thrk vkSj ç/kuea=kh cuk\

	 (a)	 uokt 'kjhiQ

	 (b)	 bejku •ku

	 (c)	 fcykoy Hkqêðks

	 (d)	 jsge •ku

	 1.	 How many teams participated in FIFA World Cup 
organised in Russia from 14 June-15 July 2018?

	 (a)	 32	 (b)	 34
	 (c)	 36	 (d)	 30
	 2.	 In which of the following countries did Prime 

Minister Modi start 'Ramayana Circuit' on May 11, 
2018?

	 (a)	 Sri Lanka	 (b)	 Myanmar
	 (c)	 Nepal	 (d)	 Indonesia
	 3.	 'Purvanchal Express Way' in Uttar Pradesh will not 

pass through which of the following cities?
	 (a)	 Faizabad	 (b)	 Basti
	 (c)	 Azamgarh	 (d)	 Mau
	 4.	 According to United Nation's E-Government Index, 

2018 India ranks at which place?
	 (a)	 90th	 (b)	 95th

	 (c)	 96th	 (d)	 99th

	 5.	 Which of the following States was in the news for 
the outbreak of Nipah virus disease in May-June, 
2018?

	 (a)	 Bihar	 (b)	 Kerala
	 (c)	 Haryana	 (d)	 Gujarat
	 6.	 In which city the Indian National Digital Library 

was dedicated to the nation in June 2018 by Prakash 
Javadekar?

	 (a)	 Bengaluru	 (b)	 Hyderabad
	 (c)	 Delhi	 (d)	 Chennai
	 7.	 What is the rank of India in the world as per Global 

Peace Index (GPI), 2018?
	 (a)	 136th	 (b)	 137th

	 (c)	 138th	 (d)	 134th

	 8.	 15th Pravasi Bhartiya Diwas in January 2019 will 
be held in which city?

	 (a)	 Varanasi	 (b)	 Vadodara
	 (c)	 Jaipur	 (d)	 Pune
	 9.	 From 4th July 2018 the Minimum Support Price 

(MSP) during 2018-19 for paddy per quintal is
	 (a)	 Rs. 1,550	 (b)	 Rs. 1,650
	 (c)	 Rs. 1,750	 (d)	 Rs. 1,950
	 10.	 Who among the following won the Pakistan's 

Parliamentary Elections in July 2018 and became 
the Prime Minister?

 	 (a)	 Nawaz Sharif 
	 (b)	 Imran Khan
	 (c)	 Bilawal Bhutto
 	 (d)	 Reham Khan
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	11-	fuEu esa ls fdlus o"kZ 2018 ds esxlsls iqjLdkj thrk\
	 (a)	 Hkkjr oVokuh

	 (b)	 lksue okaxpqd

	 (c)	 mijksDr (a) vkSj (b)

	 (d)	 mijksDr esa ls dksbZ ugha

	12-	n'ke~ ^fczDl* (BRICS) f'k•j lEesyu 2018 
fuEufyf•r ns'kksa esa fdlesa vk;ksftr fd;k x;k\

	 (a)	 czkthy	 (b)	 nf{k.k vkfÚdk

	 (c)	 :l	 (d)	 phu

	13-	fuEufyf•r esa ls dkSu 'kqDy ;tqoZsn dh lafgrk gS\
	 (a)	 oktlusfe	 (b)	 eS=kk;.kh

	 (c)	 rSÙkjh;	 (d)	 dkBd

	 4-	uhps nks dFku fn, x, gSa ftuesa ,d dks dFku (A)
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 dFku (A) % Hkkjr ij rqdhZ vkØe.k liQy gq,A
		 dkj.k (R) % mÙkj Hkkjr esa jktuhfrd ,drk ugha FkhA
	 	uhps fn, dwVksa esa ls lgh mÙkj dk p;u dhft,A
	 	dwV %
	 (a)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa rFkk 

dkj.k (R) dFku (A) dh lgh O;k[;k gSA

	 (b)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa ijUrq 
dkj.k (R) dFku (a) dh O;k[;k ugha gSA

	 (c)	 dFku (A) lgh gS] fdarq dkj.k (R) xyr gSA

	 (d)	 dFku (A) xyr gS] fdarq dkj.k (R) lgh gSA

	15-	fuEu eafnjksa dks dkykuqØe esa O;ofLFkr dhft, vkSj 
uhps fn, dwVksa esa ls lgh mÙkj pqfu,A

	 I.	 c`gnh'oj eafnj

	 II.	 xaxSdks.M pksykiqje eafnj

	 III.	 egkcyhiqje dk rVh; eafnj

	 IV.	 lIr iSxksMk

	 	dwV%
	 (a)	 I, II, IV, III	 (b)	 II, I, III, IV

	 (c)	 III, II, I, IV	 (d)	 IV, III, I, I

	16-	gkFkhxqEiQk dk vfHkys• fdl 'kkld ds fo"k; esa 
tkudkjh dk lzksr gS\

	 (a)	 •kjosy	 (b)	 v'kksd

	 (c)	 g"kZo/Zu	 (d)	 dfu"d

	17-	uhps nks dFku fn, x, gSaA ,d dks dFku (A) rFkk nwljs 
dks dkj.k (R) dgk x;k gSA

		 dFku (A): 1946 esa eqfLye yhx esa ^dSfcusV fe'ku 
Iyku* ds fy, nh xbZ viuh LohÑfr okil ys yh FkhA

		 dkj.k (R)% 1946 esa xfBr varfje ljdkj esa eqfLye 
yhx 'kkfey gqbZ FkhA

	 11.	 Who among the following won the Magsaysay 
Award, 2018?

	 (a)	 Bharat Vatwani
	 (b)	 Sonam Wangchuk
	 (c)	 Both  (a) and (b)
	 (d)	 None of the above
	 12.	 The 10th 'BRICS' Summit 2018 was held in which 

of the following countries?
	 (a)	 Brazil	 (b)	 South Africa
	 (c)	 Russia	 (d)	 China
	 13.	 Which of the following is a Samhita of Shukla 

Yajurveda ?
	 (a)	 Vajasanami 	 (b)	 Maitrayani
	 (c)	 Taittiriya	 (d)	 Kathak
	 14.	 Given below are two statements, one is labelled as 

Assertion (A) and the othe as Reason (R).
		  Assertion (A): Turkish invasions or India were 

successful.
		  Reason (R): There was no political unity in North 

India.
		  Select the correct answer from the codes given 

below:
		  Codes:
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b)	 Both (A) and (R) are true, but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true, but (R) is false
	 (d)	 (A) is false, but (R) is true
	 15.	 Arrange the following temples in a chronological 

order and select the correc answer from the codes 
given below:

	 I.	 Brihdishwar temple
	 II.	 Gangaikonda cholapuram temple
	 III.	 Shore temple of Mahabalipuram
	 IV.	 Sapt pagoda
		  Codes:
	 (a)	 I, II, IV, III	 (b)	 II, I, III, IV
	 (c)	 III, II, I, IV	 (d)	 IV, III, I, II
	 16.	 The inscription of Hathigumpha is the source of 

information about which king?
	 (a)	 Kharvela	 (b)	 Ashok
	 (c)	 Harshavardhan	 (d)	 Kanishka
	 17.	 Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R).
		  Assertion (A): In 1946, the Muslim League 

withdrew its acceptance of the Cabinet Mission 
Plan.

		  Reason (R): The Muslim League joined the 
interim government formed in 1946.



4

	 	uhps fn, dwVksa esa ls lgh mÙkj pqfu,A

	 	dwV %

	 (a)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa rFkk 
dkj.k (R) dFku (a) dh lgh O;k[;k gSA

	 (b)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa ijUrq 
dkj.k (R) dFku (A) dh O;k[;k ugha gSA

	 (c)	 dFku (A) lgh gS] ijarq dkj.k (R) xyr gSA

	 (d)	 dFku (A) xyr gS] ijarq dkj.k (R) lgh gSA 

	18-	fuEufyf•r esa ls fdu LFkkuksa eè;ik"kk.k dky esa i'kq 
ikyu ds çek.k feyrs gSa\

	 (a)	 vkSns

	 (c)	 ckxksj

	 (b)	 cksjh

	 (d)	 y•fu;k¡

	19-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gS\

	 (a)	 vnhuk efLtn	 &	ekaMq

	 (b)	 yky njoktk efLtn	 &	tkSuiqj

	 (c)	 nkf•y njoktk	 &	xkSM+

	 (d)	 rhu njoktk	 &	vgenkckn

	20-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gS\

	 (a)	 èkzqonkl & Hkxr ukekoyh

	 (b)	 ukHkknkl & HkDreky

	 (c)	 jl•ku & jfld fç;k

	 (d)	 mLeku & fp=kkoyh

	21-	fuEufyf•r ?kVukvksa dks dkyØekuqlkj O;ofLFkr dhft, 
vkSj uhps fn;s x;s dwV ls lgh mÙkj dk p;u dhft,A

	 A.	 gaVj vk;ksx

	 B.	 lsMyj vk;ksx

	 C.	 oqM dk ?kks"k.kki=k

	 D.	 lktZsaV ;kstuk

dwV%
	 (a)	 A 		 B	 D	 C
	 (b)	 C		  B	 A	 D
	 (c)	 A		  B	 C	 D
	 (d)	 C		  A	 B	 D

	22-	fuEufyf•r usrkvksa esa fdlus Økafrdkjh laxBu] ̂ vfHkuo 
Hkkjr lekt* dh LFkkiuk dh\

	 (a)	 Hkxr flag

	 (b)	 fouk;d nkeksnj lkojdj

	 (c)	 ckfjUæ dqekj ?kks"k

	 (d)	 iqfyu fcgkjh

		  Select the correct answer from the codes given 
below:

		  Codes:
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A). 
	 (b)	 Both (A) and (R) are true, but (R) is not the 

correct explanation of (A).
	 (c)	 (A) is true, but (R) is false.
	 (d)	 (A) is false, but (R) is true.
	 18.	 Which among the following sites provides 

evidence of domestication of animals in the 
Mesolithic period?

	 (a)	 Odai
	 (b)	 Bori
	 (c)	 Bagor
	 (d)	 Lakhnia
	 19.	 Which of the following pairs is NOT correctly 

matched?
	 (a)	 Adina Masjid	 –	 Mandu
	 (b)	 Lal Darwaza Masjid	 –	 Jaunpur
	 (c)	 Dakhil Darwaza	 –	 Gaour
	 (d)	 Tin Darwaza	 –	 Ahmedabad
	 20.	 Which of the following pairs is NOT correctly 

matched?
	 (a)	 Dhruvadas – Bhagat Namawali
	 (b)	 Nabhadas – Bhaktamal
	 (c)	 Raskhan – Rasik Priya
	 (d)	 Usman – Chitra
	 21.	 Arrange the following events in their chronological 

order and select the correct answer from the codes 
given below:

	 A.	 Hunter Commission
	 B.	 Sadlar Commission
	 C.	 Wood's Despatch
	 D.	 Sargeant Plan Codes:
	 (a)	 A 		 B	 D	 C
	 (b)	 C		  B	 A	 D
	 (c)	 A		  B	 C	 D
	 (d)	 C		  A	 B	 D
	 22.	 Who among the following leaders founded the 

revolutionary organization-'Abhinav Bharat 
Society'?

	 (a)	 Bhagat Singh
	 (b)	 Vinayak Damodar Savarkar
	 (c)	 Barindra Kumar Ghosh
	 (d)	 Pulin Bihari
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	23-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gS\
		  foæksg		 o"kZ

	 (a)	 laFkky	 	1855

	 (b)	 dksy	 	1831

	 (c)	 •klh	 	1829

	 (d)	 vgkse	 	1815

	24-	fuEufyf•r esa dkSu Hkkjr dk lcls Åapk ty çikr gS\
	 (a)	 tksx tyçikr	 (b)	 dqaphdy tyçikr

	 (c)	 jkfde dq.M tyçikr 	(d)	 dsofr tyçikr

	25-	^ouLifr tyok;q dk lgh lwpd gS* ;g dFku lacaf/r gSA
	 (a)	 FkkuZFosV	 (b)	 dksisu

	 (c)	 VªhokFkkZ	 (d)	 LVSEi

	26-	fuEufyf•r ns'kksa esa ls fdlesa iEik ?kkl dk eSnku fLFkr gS\
	 (a)	 vtZsfUVuk	 (b)	 czkthy

	 (c)	 phyh	 (d)	 bDosMksj

	27-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gS\
		  e#LFky		 ns'k

	 (a)	 lksuksju	 &	la-jk- vesfjdk

	 (b)	 rdykedku	 &	phu

	 (c)	 djkdqe	 &	rqdZesfuLrku

	 (d)	 fxClu	 &	czkthy

	28-	fuEufyf•r dkWiQh mRiknd ns'kksa dks muds dkiQh mRiknu 
(2016) (ek=kk) dks vkojksgh Øe esa O;ofLFkr djsa 
vkSj uhps fn;s x;s dwV ls lgh mÙkj dk p;u djsaA

	 A.	 dksyfEc;k	 B.	fo;ruke

	 C.	 czkthy	 D.	bUMksusf'k;

	 	dwV%
	 (a)	 D, C, B, A	 (b)	 C, B, A, D

	 (c)	 B, D, C, A	 (d)	 C, A, B, D

	29-	Lost ugj ds cu tkus ds i'pkr~ Hkkjr vkSj ;qjksi ds 
eè; dh lkeqfæd nwjh esa fdruh deh vk;h gS\

	 (a)	 5]000 fd-eh-	 (b)	7]000 fd-eh-

	 (c)	 8]000 fd-eh-	 (d)	10]000 fd-eh-

	30-	fuEufyf•r Hkkjrh; ekSle eq[;ky;ksa dks mudh LFkkiuk 
ds dkykuqØe esa O;ofLFkr dhft, vkSj uhps fn;s x;s 
dwV ls vius lgh mÙkj dk p;u dhft,A

	 A.	 ubZ fnYyh	 B.	dksydkrk

	 C.	 f'keyk	 D.	iq.ks

	 	dwV%
	 (a)	 C 		 D	 A	 B
	 (b)	 B		  A	 D	 C
	 (c)	 D		  B	 C	 A
	 (d)	 B		  C	 D	 A

	 23.	 Which of the following pairs is NOT correctly matched?
		  Rebellion		  Year
	 (a)	 Santhal		  1855
	 (b)	 Kol		  1831
	 (c)	 Khasi		  1829
	 (d)	 Ahom		  1815
	 24.	 Which of the following is the highes waterfall in 

India?
	 (a)	 Jog fall	 (b)	 Kunchikal fall
	 (c)	 Rakim Kund fall	 (d)	 Kevti fall
	 25.	 'Vegetation is the true index of climate'. This 

statement is associated with
	 (a)	 Thornthwaite 	 (b)	 Koppen
	 (c)	 Trewartha	 (d)	 Stamp
	 26.	 In which of the following countries is the Pampas 

grasslands situated?
	 (a)	 Argentina	 (b)	 Brazil
	 (c)	 Chile	 (d)	 Ecuador
	 27.	 Which of the following pairs is NOT correctly 

matched?
		  Desert		  Country
	 (a)	 Sonoran	 – 	USA
	 (b)	 Taklamakan	 –	 China
	 (c)	 Karakum	 –	 Turkmenistan
	 (d)	 Gibson	 –	 Brazil
	 28.	 Arrange the following coffee producing countries 

in descending order of their coffee production 
(2016, quantity) and select the correct answer from 
the codes given below:

	 A.	 Colombia	 B.	 Vietnam
	 C.	 Brazil	 D.	 Indonesia
		  Codes:
	 (a)	 D, C, B, A	 (b)	 C, B, A, D
	 (c)	 B, D, C, A	 (d)	 C, A, B, D
	 29.	 How much the maritime distance between India 

and Europe was reduced after the construction of 
the Suez Canal?

	 (a)	 5,000 km	 (b)	 7,000 km
	 (c)	 8,000 km	 (d)	 10,000 km
	 30.	 Arrange the following Indian Meteorological 

Headquarters in Chronological order of their 
establishment and select your correct answer from 
the codes given below:

	 A.	 New Delhi	 B.	 Kolkata
	 C.	 Shimla	 D.	 Pune
		  Codes:
	 (a)	 C 		 D	 A	 B
	 (b)	 B		  A	 D	 C
	 (c)	 D		  B	 C	 A
	 (d)	 B		  C	 D	 A
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	31-	fuEufyf•r dFkuksa esa dkSu lgh ugha gS \
	 (a)	 dkyh feêðh dks LFkkuh; Hkk"kk esa ̂ jsxqj* dgk tkrk 

gSA

	 (b)	 ØsCl ds vuqlkj jsxqj feêðh vfuok;Z :i ls ,d 
ifjiDo feêðh gksrh gSA

	 (c)	 dkyh feêðh esa vkæZrk (ueh) /kj.k djus dh 
mPp {kerk gksrh gSA

	 (d)	 dkyh feêðh fgeky; {ks=k esa ik;h tkrh gSA

	32-	eSdeksgu js•k lhek js•k cukrh gSA
	 (a)	 Hkkjr ,oa phu ds chp

	 (b)	 Hkkjr ,oa ikfdLrku ds chp

	 (c)	 Hkkjr ,oa E;kaekj ds chp

	 (d)	 Hkkjr ,oa usiky ds chp

	33-	fuEufyf•r ufn;ksa esa fdlds eqgkus ij ¶i{kh os iats¸ 
dh vkÑfr okyk MsYVk curk gS\ 

	 (a)	 gkax gks 	 (b)	 uhy

	 (c)	 MsU;wc	 (d)	 felhflih

	34-	tula[;k dh çkÑfrd o`f¼ fuEu esa ls fdldk ifj.kke 
gS\

	 A.	 v'kksf/r tUe nj	 B.	v'kksf/r e`R;q nj

	 C.	 çoztu	 D.	fookg

	 	fn, x, dwV ls lgh mÙkj dk p;u dhft,
	 	dwV%
	 (a)	 dsoy A	 (b)	 dsoy C

	 (c)	 B vkSj D	 (d)	 A vkSj B

	35-	fuEu esa ls fdlds }kjk ekuo fodkl lwpdkad (HDI) 
loZçFke fodflr fd;k x;k\

	 (a)	 ;w-,u-Mh-ih- }kjk	 (b)	 vkbZ-,e-,iQ- }kjk

	 (c)	 ;wfulsiQ }kjk	 (d)	 vad~VkM }kjk

	36-	fuEufyf•r esa dkSu Hkkjr esa xzkeh.k jkstxkj dk lcls 
cM+k dk;ZØe gS\

	 (a)	 eujsxk

	 (b)	 Vªkblse

	 (c)	 dke ds cnys vukt

	 (d)	 dkS'ky fodkl dk;ZØe

	37-	fuEufyf•r esa dkSu yksjsUt oØ }kjk ekik tkrk gS\
 	 (a)	 vf'k{kk 	 (b)	 csjks”kxkjh

	 (c)	 tula[;k o`f¼ nj	 (d)	 vk; dh fo"kerk

	38-	fuEufyf•r jkT;ksa esa dkSu vkfFkZd n`f"V ls lcls Åij 
ysfdu fyaxkuqikr ds vk/kj ij lcls uhps gS \

	 (a)	 eè; çns'k	 (b)	 egkjk"Vª

	 (c)	 if'pe caxky 	 (d)	 gfj;k.kk

	 31.	 Which of the following statements is NOT correct?
	 (a)	 Black soil is locally called 'regur' 
	 (b)	 According to Krabs the regur soil is 

essentially a mature soil
	 (c)	 Black soils are highly retentive to moisture
	 (d)	 Black soil is found in Himalayan region
	 32.	 MacMohan line forms the boundary between
	 (a)	 India and China 
	 (b)	 India and Pakistan
	 (c)	 India and Myanmar
	 (d)	 India and Nepal
	 33.	 At the mouth of which of the following rivers the 

'bird's foot' type delta is formed?
	 (a)	 Huang Ho 	 (b)	 Nile
	 (c)	 Danube	 (d)	 Mississippi
	 34.	 Natural growth of population is the outcome of 

which of the following?
	 A.	 Crude Birth Rate	 B.	 Crude Death Rate
	 C.	 Migration	 D.	 Marriages
		  Select the correct answer from the codes given 

below:
		  Codes:
	 (a)	 Only A	 (b)	 Only C
	 (c)	 B and D	 (d)	 A and B
	 35.	 The Human Development Index (HDI) was first 

developed by which of the following?
	 (a)	 UNDP	 (b)	 IMF
	 (c)	 UNICEF	 (d)	 UNCTAD
	 36.	 Which of the following is the largest rural 

employment programme in India?
	 (a)	 MNREGA
	 (b)	 TRYSEM
	 (c)	 Work for food
	 (d)	 Skill Development Programme
	 37.	 Which of the following is measured by the Lorenz 

curve?
	 (a)	 Illiteracy
	 (b)	 Unemployment
	 (c)	 Population growth rate
	 (d)	 Inequality of Income
	 38.	 Which of the following States is ranked 

economically at the top but the lowest on the basis 
of sex-ratio?

	 (a)	 Madhya Pradesh	 (b)	 Maharashtra
	 (c)	 West Bengal	 (d)	 Haryana
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	39-	fuEufyf•r djksa esa dkSu&lk dj xzke iapk;rksa }kjk 
yxk;k tkrk gS\ 

	 (a)	 fcØh dj

	 (b)	 Hkw&jktLo dj

 	 (c)	 LFkkuh; esyksa ij dj

	 (d)	 mi;ZqDr esa ls dksbZ ugha

	40-	Hkkjr esa fuEufyf•r ikap o"kks± ;kstukvksa esa fdldk 
eq[; è;s; ^lEiks"k.kh; o`f¼* Fkk\

	 (a)	 9oha	 (b)	 10oha

	 (c)	 11oha	 (d)	 12oha

	41-	mÙkj çns'k ds fuEufyf•r uxjksa esa ls fdls LekVZ flVh 
fodkl dk;ZØe esa fodkl ds fy, dsUæh; ljdkj }kjk 
ugha pquk x;k gS\

	 (a)	 y•uÅ	 (b)	 bykgkckn

	 (c)	 xkft;kckn	 (d)	 dkuiqj

	42-	jk"Vªh; ifjokj LokLF; loZs{k.k (NFHS) (2015&16) 
ds vuqlkj orZeku esa Hkkjr dh dqy çtuu nj (TFR) 
D;k gS\

	 (a)	 2-2	 (b)	 2-4

	 (c)	 3-2	 (d)	 3-4

	43-	Hkkjr esa uxjh; {ks=kksa esa ch-ih-,y- ifjokjksa dh igpku 
ds fy, fuEufyf•r esa ls dkSu&lh lfefr xfBr dh 
x;h Fkh\

	 (a)	 Bsanqydj lfefr	 (b)	 lDlsuk lfefr

	 (c)	 ydM+okyk lfefr	 (d)	 gkf'ke lfefr

	44-	bafM;k LVsV vkWiQ iQkjsLV jhiksVZ 2017 ds vuqlkj] ns'k 
ds dqy HkkSxksfyd {ks=kiQy dk fdruk çfr'krka'k ouksa 
ds varxZr gS\

	 (a)	 20-34	 (b)	 22-34

	 (c)	 21-54	 (d)	 23-54

	45-	Hkkjr esa ck?k ifj;kstuk dc 'kq# dh x;h\

	 (a)	 1968 esa	 (b)	 1972 esa

	 (c)	 1984 esa	 (d)	 1993 esa

	 46-	fuEufyf•r esa dkSu ekuotfur thoksHk dk ,d mnkgj.k 
gS\

	 (a)	 tyra=k	 (b)	 ?kkl dk eSnku

	 (c)	 o"kkZ ou	 (a)	 iQlyh Hkwfe

	 47-	fuEufyf[kr esa dkSu&lk tkuoj fcuk ikuh ih;s lcls 
yEch vofèk rd jg ldrk gS\

	 (a)	 ftjkiQ	 (b)	 ÅaV

	 (c)	 daxk#	 (d)	 daxk# pwgk

	 39.	 Which of the following taxes in levied by the Gram 
Panchayats?

	 (a)	 Sales Tax
	 (b)	 Land Revenue Tax
 	 (c)	 Tax on Local Fairs
	 (d)	 None of the above
	 40.	 In India which of the following Five Year Plans 

was launched with a focus on sustainable growth?
	 (a)	 9th	 (b)	 10th

	 (c)	 11th	 (d)	 12th

	 41.	 Which of the following cities in Uttar Pradesh has 
NOT been selected for development under the 
Smart City Development Programme of the 
Central Government?

	 (a)	 Lucknow	 (b)	 Allahabad
	 (c)	 Ghaziabad 	 (d)	 Kanpur
	 42.	 What is the current Total Fertility Rate (TFR) of 

India according to the National Family Health 
Survey (NFHS) (2015-16)?

	 (a)	 2.2	 (b)	 2.4
	 (c)	 3.2	 (d)	 3.4
	 43.	 Which of the following committees was set up in 

India for identification of BPL families in Urban 
Areas ?

	 (a)	 Tendulkar Committee
	 (b)	 Saxena Committee
	 (c)	 Lakdawala Committee
	 (d)	 Hashim Committee
	 44.	 According to the India State of Forest Report, 2017, 

what percentage of total geographical area of the 
country is under forest?

	 (a)	 20.34	 (b)	 22.34
	 (c)	 21.54	 (d)	 23.54
	 45.	 When was 'Project Tiger' launched in India?
	 (a)	 1968	 (b)	 1972
	 (c)	 1984	 (d)	 1993
	 46.	 Which of the following is an example of 

anthroopogenic biome?
	 (a)	 Fresh water
	 (b)	 Crassland
	 (c)	 Rain forest
	 (d)	 Cropland
	 47.	 Which of the following animals can live for the 

longest duration without drinking water?
	 (a)	 Giraffe	 (b)	 Camel
	 (c)	 Kangaroo	 (d)	 Kargaroo rat
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	48-	Hkkjr dk çFke us'kuy lsaVj iQkWj esjhu ck;ksMkboflZVh 
(,u- lh- ,e-ch-) fdl 'kgj esa fLFkr gS\

	 (a)	 Hkkouxj esa 	 (b)	 tkeuxj esa

	 (c)	 eqEcbZ esa	 (d)	 iqMqpsjh esa

	 49-	Mkfpxe jk"Vªh; m|ku fuEufyf•r esa ls fdlls lacaf/r 
gS\

	 (a)	 dLrwjh e`x	 (b)	 xksYMu vksfj;ksy

	 (c)	 ;syks&FkzksVsM ekVZu	 (d)	 gaxqy ;k d'ehj LVSx

	50-	fo'o tSo fofof/rk fnol dc euk;k tkrk gS \

	 (a)	 ekpZ] 22	 (b)	 ebZ] 22

	 (c)	 twu] 23	 (d)	 vçSy] 16

	51-	fuEufyf•r esa dkSu e`nk ls lacaf/r gS\

	 (a)	 bMsfiQd	 (b)	 DykbesfVd

	 (c)	 ck;ksfVd	 (d)	 VksiksxzkiQh

	52-	fuEu esa ls fdlesa vkstksu dh lokZf/d lkaærk feyrh 
gS\

	 (a)	 VªksiksLiQh;j esa 	 (b)	 eslksLiQh;j esa

	 (c)	 LVªSVksLiQh;j esa	 (d)	 bDlksLiQh;j esa

	 53-	oSf'od m"eu ds iQy Lo:i fuEufyf•r esa fdldh 
ckjEckjrk vkSj çp.Mrk c<+ jgh gS\

	 (a)	 dsoy pØokr dh

	 (b)	 dsoy rwiQku dh

	 (c)	 dsoy co.Mj dh

	 (d)	 mijksDr lHkh dh

	54-	fuEufyf•r esa dkSu Lo&oklu laj{k.k j.kuhfr dk 
mnkgj.k ugha gS\

	 (a)	 tSoe.My vkxkj 	 (b)	 ouLifrd ckx

	 (c)	 jk"Vªh; m|ku 	 (d)	 ifo=k miou

	55-	lw;Z ds çdk'k ls ikjk&cSaxuh fofdj.k vfHkfØ;k fuEu 
esa ls D;k iSnk djrh gS\

	 (a)	 dkcZu eksukDlkbM	 (b)	 lYiQj Mkb vkDlkbM

	 (c)	 vkstksu	 (d)	 ÝyksjkbM~l

	56-	ukeZu cksjykWx dks fdl {ks=k esa ukscsy iqjLdkj çnku 
fd;k x;k\

	 (a)	 Ñ"kh	 (b)	 vFkZ'kkL=k

	 (c)	 vkS"kf/	 (d)	 'kkfUr

	57-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gSa \

	 (a)	 jsusfVax & iuhj

	 (b)	 tSo çks|ksfxdh & IykfLeM~l

	 (c)	 xksYMsu pkoy & foVkfeu A

	 (d)	 vkstksu ijr & VªksihLiQh;j

	 48.	 India's first National Centre for Marine Biodiverstiy 
(NCMB) is located in which city?

	 (a)	 Bhavnagar	 (b)	 Jamnagar
	 (c)	 Mumbai	 (d)	 Puducherry
	 49.	 Dachigam National Park is associated with which 

of the following?
	 (a)	 Musk Deer
	 (b)	 Golden Oriole
	 (c)	 Yellow-throated Marten
	 (d)	 Hangul or Kashmir Stag
	 50.	 When the world biodiversity Day is observed?
	 (a)	 March, 22	 (b)	 May, 22
	 (c)	 June, 23	 (d)	 April, 16
	 51.	 Which of the following is concerned with soil?
	 (a)	 Edaphic	 (b)	 Climatic
	 (c)	 Biotic	 (d)	 Topography
	 52.	 The maximum concentration of Ozone is found in 

which of the following?
	 (a)	 Troposphere	 (b)	 Mesosphere
	 (c)	 Stratosphere	 (d)	 Exosphere
	 53.	 As a result of global warming the frequency and 

severety of which of the following are increasing 
due to global warming?

	 (a)	 Cyclones only 	 (b)	 Storms only 
	 (c)	 Hurricanes only	 (d)	 All of the above
	 54.	 Which of the following is NOT an example of in-

situ conservation strategy?
	 (a)	 Biosphere reserve
	 (b)	 Botenical garden 
	 (c)	 National Park
	 (d)	 Sacred groves
	 55.	 Ultra-violet radiation from sun light causes the 

reaction that produce which of the following?
	 (a)	 CO	 (b)	 SO2

	 (c)	 O3	 (d)	 Fluorides
	 56.	 Norman Borlaug was given Nobel Prize in which 

field?
	 (a)	 Agriculture	 (b)	 Economics 
	 (c)	 Medicine	 (d)	 Peace
	 57.	 Which of the following paris is NOT correctly 

matched?
	 (a)	 Renneting-Cheese
	 (b)	 Genetic Engineering-Plasmids
	 (c)	 Golden rice-Vitamin A
	 (d)	 Ozone layer-Troposphere
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	58-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gSa\

	 (a)	 ckUnhiqj jk"Vªh; m|ku & dukZVd

	 (b)	 ekul oU; tho vHk;kj.; & vle

	 (c)	 isfj;kj oU; tho vHk;kj.; & dsjy

	 (d)	 fleyhiky jk"Vªh; m|ku & eè; çns'k

	59-	fuEufyf•r esa fdls ts- oh- ukyhZdj ds vuqlkj vHkh 
rd foKku ugha ekuk tkrk gS \

	 (a)	 T;ksfr"k	 (b)	 •xksfydh

	 (c)	 czãkafMdh	 (d)	 uSuksçkS|ksfxdh

	60-	fuEufyf•r esa fdldk vkfo"dkj foygsYe jkUVtsu }kjk 
fd;k x;k\

	 (a)	 jsfM;ks	 (b)	 ,Dl&js e'khu

	 (c)	 fctyh dk cYc	 (d)	 mijksDr esa dksbZ ugha

	61-	Mh-,u-,- dh f}dqaMfyuh lajpuk fdlds }kjk nh xbZ 
Fkh\

	 (a)	 tSdc rFkk eksuksM

	 (b)	 okVlu rFkk fØd

	 (c)	 ,p- th- •qjkuk

	 (d)	 mijksDr esa ls dksbZ ugha

	62-	fuEufyf•r fo|qr pqEcdh; fofdj.kksa esa ls fdldh 
mtkZ vf/dre gksrh gS\

	 (a)	 n`'; çdk'k

	 (b)	 vojDr fdj.ksa

	 (c)	 ijkcSaxuh fdj.ksa

	 (d)	 X&fdj.ksa

	 63-	ehFksu fuEu esa ls fdlls fudyrh ;k mRlftZr gksrh 
gS\

	 (a)	 dsoy /ku ds •srksa ls

	 (b)	 dsoy nhed dh ckEch ls

	 (c)	 (a) vkSj (b) nksuksa ls

	 (d)	 mijksDr esa fdlh ls ugha

	64-	fuEufyf•r rRoksa esa dkSu v¼Zpkyd gS \

	 (a)	 vY;qfefu;e	 (b)	 flfydku

	 (c)	 pk¡nh	 (d)	 lhlk

	65-	Hkkjr ds lafo/ku dh çLrkouk esa fdrus çdkj dk U;k;] 
Lora=krk] lekurk ,oa Hkzkr`Ro dk mlh Øe esa mYys• 
fd;k x;k gS\

	 (a)	 3] 5] 2] 1

	 (b)	 1] 3] 5] 2

	 (c)	 2] 5] 3] 1

	 (d)	 5] 2] 1] 3

	 58.	 Which of the following pairs is NOT correctly 
matched?

	 (a)	 Bandipur National Park-Karnataka
	 (b)	 Manas Wildlife Sanctuary-Assam
 	 (c)	 Periyar Wildlife Sanctuary-Kerala 
	 (d)	 Simlipal National Park-Madhya Pradesh
	 59.	 According to J.V. Narlikar which of the following 

has so far NOT been considered as a science?
	 (a)	 Astrology
	 (b)	 Astronomy
	 (c)	 Cosmology
	 (d)	 Nanotechnology
	 60.	 Which of the following was invented by Wilhelm 

Roentgen?
	 (a)	 Radio	 (b)	 X-Ray Machine
 	 (c)	 Electric Bulb	 (d)	 None of the above
	 61.	 Double-helical structure of DNA was given by 

whom?
	 (a)	 Jacob and Monod
	 (b)	 Watson and Crick
	 (c)	 H.G. Khorana
	 (d)	 None of the above
	 62.	 Which of the following electro magnetic radiations 

has the maximum energy?
	 (a)	 Visible light
	 (b)	 Infrared rays
	 (c)	 Ultraviolet rays
	 (d)	 X-rays
	 63.	 Methane is emitted from which of the following?
	 (a)	 Paddy fields only
	 (b)	 Termitary only
	 (c)	 Both from (a) and (b)
	 (d)	 None of the above
	 64.	 Which of the following elements is a semi 

conductor?
	 (a)	 Aluminium 	 (c)	 Silver
	 (b)	 Silicon	 (d)	 Lead
	 65.	 How many types of justice, liberty, equality and 

fraternity in that order has been mentioned in the 
preamble of constitution of India?

	 (a)	 3, 5, 2, 1
	 (b)	 1, 3, 5, 2
	 (c)	 2, 5, 3, 1
	 (d)	 5, 2, 1, 3
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	66-	2017 ds jk"Vªifr pquko esa ;w-ih-,- dk mEehnokj dkSu Fkk\

	 (a)	 lqJh- ehjk dqekj

	 (b)	 Jh- xksiky Ñ".kk xka/h

	 (c)	 MkW- dju flag

	 (d)	 mijksDr esa dkbZ ugha

	67-	uhfr vk;ksx dk çFke mikè;{k (milHkkifr) dkSu Fkk\

	 (a)	 vjfoUn iuxfM+;k	 (b)	 j?kqjke jktu

	 (c)	 pUæ'ks•j lqczeU;e 	 (d)	 jktho dqekj

	68-	fuEufyf•r esa dkSu&lk Hkkjr esa Hkk"kk ds vk/kj ij 
cuk igyk jkT; Fkk\

	 (a)	 dsjy	 (b)	 eè; çns'k

	 (c)	 vkU/z çns'k	 (d)	 mÙkj çns'k

	69-	fuEufyf•r esa dkSu ,d lafo/kusrj laLFkk gS\

	 (a)	 la?k yksd lsok vk;ksx

	 (b)	 foÙk vk;ksx

	 (c)	 fuokZpu vk;ksx

	 (d)	 uhfr vk;ksx

	70-	ljdkfj;k vk;ksx dh laLrqfr;k fuEufyf•r esa fdlls 
lacaf/r gS\

	 (a)	 jktLo dk forj.k

	 (b)	 jk"Vªifr dh 'kfDr;k ,oa dk;Z

	 (c)	 laln dh lnL;rk

	 (d)	 dsUæ&jkT; lEcU/

	71-	loZçFke lalnkRed ljdkj fdl ns'k esa vkjaHk dh x;h\

	 (a)	 xzsV fczVsu esa (;w-ds- esa)

 	 (b)	 csfYt;e esa 

	 (c)	 Úkal esa

	 (d)	 fLoVtjyS.M esa

	 72-	fuEufyf•r esa ls fdlds laca/ esa jkT; lHkk dk vuU; 
vf/dkj gS\

	 (a)	 jk"Vªifr dks vinLFk djus gsrq dk;Zokgh çkjaHk 
djuk

	 (b)	 lokZsPp U;k;ky; ds U;k;k/h'kksa dks vinLFk djus 
gsrq dk;Zokgh djuk

	 (e)	 ,d u;h vf•y Hkkjrh; lsok ds l`tu gsrq 
laLrqfr djuk

	 (d)	 mijksDr dksbZ ugha

	73-	Hkkjr ds lafo/ku ds fdl Hkkx esa ge ukxfjdrk ls 
lacaf/r çko/kuksa dks ikrs gSa\

	 (a)	 Hkkx I	 (b)	 Hkkx II

	 (c)	 Hkkx VII	 (d)	 Hkkx IX

	 66.	 Who was the UPA candidate for the 2017 
Presidential election ?

	 (a)	 Ms. Meira Kumar
	 (b)	 Mr. Gopal Krishna Gandhi
	 (c)	 Dr. Karan Singh
	 (d)	 None of the above
	 67.	 Who was the first Vice-Chairman of the NITI 

Ayog?
	 (a)	 Arvind Panagariya
	 (b)	 Raghuram Rajan
	 (c)	 Chandrashekhara Subramanyam
	 (d)	 Rajiv Kumar
	 68.	 Which of the following is the first State in India 

formed on the basis of languages?
	 (a)	 Kerala
	 (b)	 Madhya Pradesh
	 (c)	 Andhra Pradesh
	 (d)	 Uttar Pradesh
	 69.	 Which of the following is an extra- constitutional 

agency?
	 (a)	 Union Public Service Commission
	 (b)	 Finance Commission
	 (c)	 Election Commission
 	 (d)	 NITI Ayog
	 70.	 The recommendations of Sarkaria Commission 

relate to which of the following?
	 (a)	 Distribution of revenue
	 (b)	 Power and functions of the President
	 (c)	 Membership of Parliament
	 (d)	 Centre-State relations
	 71.	 The Parliamentary form of Government was first 

introduce in which country?
	 (a)	 Great Britain (UK)	 (b)	 Belgium
	 (c)	 France	 (d)	 Switzerland
	 72.	 The Council of States has exclusive powers in 

relation to which of the following?
	 (a)	 To initiate proceedings for the removal of 

the President
	 (b)	 To initiate proceedings for the removal of a 

judges of the Supreme Court
	 (c)	 To recommend creation of a new All India 

Service
	 (d)	 None of the above
	 73.	 In which Part of the Constitution of India we find 

the provisions relating to citizenship?
	 (a)	 Part I	 (b)	 Part II
	 (c)	 Part VII	 (d)	 Part IX
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	74-	Hkkjrh; lafo/ku esa Hkkjr dh vf/dkfjd Hkk"kk esa tqM+s 
çko/kuksa esa laln la'kks/u dj ldrh gS

 	 (a)	 vius lnL;ksa ds lk/kj.k cgqer }kjk

	 (b)	 2@3 cgqer }kjk

	 (c)	 3@4 cgqer }kjk

	 (d)	 vius 1@3 lnL;ksa ds leFkZu }kjk

	75-	fcuk vuqefr ds fdrus fnu laln ls vuqifLFkr jgus 
ij fdlh laln dks v;ksX; ?kksf"kr fd;k tk ldrk gS\

	 (a)	 30 fnu	 (b)	 60 fnu

	 (c)	 90 fnu	 (d)	 120 fnu

	76-	fuEu xouZj tujyksa esa ls fdlus dk¡xzsl dk ^vR;f/d 
vYila[;d* yksxksa dk çfrfuf/Ro djus okyh dgdj 
migkl fd;k Fkk\

	 (a)	 ykMZ MiQfju	 (b)	 ykMZ dtZu

	 (c)	 ykMZ feaVks	 (d)	 ykMZ ysalMkÅu

	77-	<hax ,Dlçsl D;k gS\
	 (a)	 <hax rFkk dksydkrk ds eè; jsyxkM+h

	 (b)	 fgek nkl dk eq¡gcksyk uke

	 (c)	 iyoy rFkk dq.Myh ds chp ,Dlçsl os

	 (d)	 yksdfç; if=kdk

	78-	esjh dkWe dks gky gh esa (flrEcj 2018) fuEu esa ls 
fdldk czk.M ,EcslMj cuk;k x;k gS\

	 (a)	 LoPN Hkkjr dk

	 (b)	 ch-,l-,u-,y- dk

	 (c)	 csVh cpkvks csVh i<+kvks dk

	 (d)	 çkstsDV •sy dk

	79-	leySafxdrk laca/h lokZ sPp U;k;ky; dk fu.kZ; 
fuEufyf•r esa fdlls lacaf/r gS\

	 (a)	 Hkk-n-la- dh /kjk 377

	 (b)	 Hkkjrh; lafo/ku dk vuqPNsn 377

	 (c)	 Hkkjrh; lafo/ku dk vuqPNsn 277

	 (d)	 mijksDr esa dksbZ ugha

	80-	lqijlksfud Øwt felkby czEgksl fuEu esa ls fdldk 
,d la;qDr miØe gS\

	 (a)	 Hkkjr rFkk :l dk

	 (b)	 Hkkjr rFkk phu dk

	 (c)	 Hkkjr rFkk btjk;y dk

	 (d)	 mijksDr esa dksbZ ugha

	81-	,aMªst eSuq,y yksist vksczkMksj tqykbZ 2018 esa fuEu esa 
ls fdl ns'k ds jk"Vªifr fuokZfpr gq, \

	 (a)	 osustq,yk	 (b)	 vtZsafVuk

	 (c)	 esfDldks	 (d)	 fudkjkxqvk

	 74.	 Parliament can Amend the provision on official 
language of India under the Constitution by

	 (a)	 a simple majority of its members
	 (b)	 2/3rd majority
	 (c)	 3/4th majority
	 (d)	 support of 1/3 of its members
	 75.	 After how many days of absence from Parliament 

without permission can a M.P. be disqualified?
	 (a)	 30 days	 (b)	 60 days
	 (c)	 90 days	 (d)	 120 days
	 76.	 Who among the following Governor Generals 

ridiculed congress as representing only a 
'microscopic minority' of people?

	 (a)	 Lord Dufferin
	 (b)	 Lord Curzon
	 (c)	 Lord Minto
	 (d)	 Lord Lansdown
	 77.	 What is Dhing Express?
	 (a)	 Train between Dhing and Kolkata
	 (b)	 Nickname of Hima Das
	 (c)	 Express way between Palwal and Kundli
	 (d)	 Popular Magazine
	 78.	 Mary Kom has recently (Sept. 2018) been made 

brand ambassador of which of the following?
	 (a)	 Swachcha Bharat
	 (b)	 BSNL
	 (c)	 Beti Bachao Beti Padhao
	 (d)	 Project Khel
	 79.	 Supreme  Cour t s  judgement  r ega rd ing 

homosexuality is related to which of the following?
	 (a)	 Section 377 of IPC
	 (b)	 Article 377 of the Indian Constitution
 	 (c)	 Article 277 of the Indian Constitution
	 (d)	 None of the above
	 80.	 Supersonic Cruise Missile BrahMos is joint 

venture of which of the following?
	 (a)	 Indian and Russia
	 (b)	 India and China
	 (c)	 India and Israel
	 (d)	 None of the above
	 81.	 Andrez Manuel Lopez Obrador is President elected 

in July 2018 of which of the following country?
	 (a)	 Venezuela	 (b)	 Argentina
	 (c)	 Mexico	 (d)	 Nicaragua
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	82-	iukek isilZ ds vk/kj ij] Hkz"Vkpkj ds fy, fuEufyf•r 
ns'kksa esa fdlds ç/kuea=kh dks 10 o"kZ tsy dh ltk nh 
x;h\

	 (a)	 ekynhoLk~	 (b)	 f=kfunkn

	 (c)	 ikfdLrku	 (d)	 mijksDr esa dksbZ ugha

	83-	tqykbZ 2018 esa çdkf'kr us'kuy jftLVj vkWiQ flVhtu 
(NRC) ds MªkÝV ds vuqlkj fdl jkT; esa 40 yk• 
ls vf/d voS/ 'kj.kkFkhZ ik;s x;s gSa\

	 (a)	 ukxkyS.M	 (b)	 fetksje

	 (c)	 vle	 (d)	 f=kiqjk

	84-	tqykbZ 2018 esa fuEu esa ls fdlds }kjk ^liQj* (ok;q 
xq.koÙkk ,oa ekSle iqokZuqeku ç.kkyh) dk mn~?kkVu fd;k 
x;k\

	 (a)	 jfo'kadj çlkn

 	 (b)	 fi;w"k xks;y

	 (e)	 MkW- g"kZo/Zu

	 (d)	 mijksDr esa dksbZ ugha

	85-	vesfjdh if=kdk] ̂ foKku* (SCIENCE) }kjk 26 tqykbZ 
2018 dks tkjh fjiksVZ ds vuqlkj ,d fo'kky Hkwfexr 
>hy dk irk fdl xzg ij pyk gS\

	 (a)	 c`gLifr ij	 (b)	'kfu ij

	 (c)	 'kqØ ij	 (d)	eaxy ij

	86-	vesfjdk ds jk"Vªifr MksukYM VªEi us mÙkj dksfj;k ds 
usrk fde tksax ls 12 twu 2018 dks fdl ns'k esa 
eqykdkr dh\

	 (a)	 eysf'k;k esa	 (b)	 bUMksusf'k;k esa

	 (c)	 flaxkiqj esa	 (d)	 FkkbZyS.M esa

	 87-	lwph&I dks lwph&II ls lqesfyr dhft,A uhps fn, dwVksa 
esa lgh mÙkj dk p;u dhft,A

	 	 lwph&I	 	lwph&II

	 	 (nf{k.k Hkkjr ds leqæxqIr		(muds jkT;)

	 	 ds ledkyhu ujs'k)

	 A.	 /uat;	 1-	voeqDr

	 B.	 uhyjkt	 2-	daph

	 C.	 mxzlsu	 3-	dqLryiqj

	 D.	 fo".kqxksik	 4-	ikyDdk

	 	dwV%
		  A		  B	 C	 D
	 (a)	 1		  2	 3	 4
	 (b)	 2		  1	 4	 3
	 (c)	 3		  1	 4	 2
	 (d)	 4		  3	 2	 1

	 82.	 On the basis of Panama Papers, the Prime Minister 
of which of the following countries was sentenced 
to 10 years in jail for corruption?

	 (a)	 Maldives
	 (b)	 Trinidad
	 (c)	 Pakistan
	 (d)	 None of the above
	 83.	 As per draft National Register of Citizen (NRC) 

of July 2018, which of the following States more 
than 40 lakh illegal migrants were found?

	 (a)	 Nagaland	 (b)	 Mizoram
	 (c)	 Assam	 (d)	 Tripura
	 84.	 Who of the following inaugurated SAFAR (System 

of Air Quality and Weather Forecasting) in July 
2018?

	 (a)	 Ravishankar Prasad
	 (b)	 Piyush Goyal
	 (c)	 Dr. Harshvardhan
	 (d)	 None of the above
	 85.	 As per report released by U.S. Journal, 'SCIENCE' 

on 26th July, 2018, a massive underground lake 
has been detected on which planet?

	 (a)	 Jupiter	 (b)	 Saturn
	 (c)	 Venus	 (d)	 Mars
	 86.	 American President Donald Trump met North 

Korean leader Kim Jong on 12 June, 2018 in which 
country?

	 (a)	 Malaysia	 (b)	 Indonesia
	 (c)	 Singapore	 (d)	 Thailand
	 87.	 Match List-1 with List-II and select the correct 

answer from the codes given below.
		  List-1		  List-II
		  (Samudra Gupta's (Their Kingdoms) 

Contemporary Kings
		  of South India)
	 A.	 Dhananjaya	 1.	 Avamukta
	 B.	 Nilaraja	 2.	 Kanchi
	 C.	 Ugrasena	 3.	 Kusthalpura
	 D.	 Vishnugopa	 4.	 Palaka
		  Code:
		  A		  B	 C	 D
	 (a)	 1		  2	 3	 4
	 (b)	 2		  1	 4	 3
	 (c)	 3		  1	 4	 2

	 (d)	 4		  3	 2	 1
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	88-	fuEu esa ls fla/q lH;rk ls lacaf/r dkSu&ls dsUæ mÙkj 
çns'k esa fLFkr gSa\

	 	uhps fn, dwVksa esa ls lgh mÙkj dk p;u dhft,%

	 I.	 dkyhcaxk	 II.	yksFky

	 III.	 vkyexhjiqj	 IV.	gqykl

	 	dwV%
	 (a)	 I, II, III, IV	 (b)	 I, II

	 (c)	 II, III	 (d)	 III, IV

	89-	fuEu esa ls dkSu&lh laLFkk fons'kh O;kikj ls lacaf/r 

Fkh\

	 (a)	 Js.kh	 (b)	 uxje 

	 (c)	 ukuknsf'k	 (d)	 ef.kxzke

	90-	uhps nks dFku fn, x, gSaA ,d dks dFku (A) rFkk nwljs 
dks dkj.k (R) dgk x;k gSA

		 dFku (A)% eè;dky esa laxhr ij laLÑr esa fy•h 
xbZ vusd iqLrdksa dk iQkjlh esa vuqokn fd;k x;kA 

		 dkj.k (R)% vkjafHkd fpLrh lwiQh lar laxhr lHkkvksa] 

ftUgsa lek dgk tkrk Fkk] ds 'kkSdhu FksA uhps fn, dwVksa 

esa ls lgh mÙkj dk p;u dhft,A

	 	dwV %

	 (a)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa rFkk 
dkj.k (R) dFku (A) dh lgh O;k[;k gSA

	 (b)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa fdUrq 

dkj.k (R) dFku (A) dh O;k[;k ugha gSA

	 (c)	 dFku (A) lgh gS] fdarq dkj.k (R) xyr gSA

	 (d)	 dFku (A) xyr gS] fdarq dkj.k (R) lgh gSA 

	91-	iq";fe=k 'kqax }kjk nks v'oes/ ;K fd;s tkus ds ckjs 

esa tkudkjh fdl ys• ls feyrh gS\

	 (a)	 lkjukFk ys•	 (b)	 csluxj ys•

	 (c)	 v;ksè;k ys•	 (d)	 gkFkhxqEiQk ys•

	92-	eè;dkyhu Hkkjr ds ,sfrgkfld lzksrksa esa pdyk 'kCn 
dk ç;ksx gqvk gSA ;g

	 (a)	 ijxuk ds lekukFkhZ Fkk

	 (b)	 ljdkj ds lekukFkhZ Fkk

	 (c)	 lwck vkSj ijxuk ds chp dh {ks=kh; bZdkbZ Fkk] 

ysfdu ljdkj ds lekukFkhZ ugha Fkk A

	 (d)	 mifyZf•r esa ls dksbZ Hkh ugha

	93-	lqj{kk ds fy, ejkBksa ds jktLo ds nkoksa dks fdl uke 
ls tkuk tkrk gS\

	 (a)	 ljns'k eq•h	 (b)	 pkSFk

	 (c)	 vcokc	 (d)	 teknkuh

	 88.	 Which of the following centres related to Indus 
Valley are situated in Uttar Pradesh?

		  Select the correct answer from the codes given 
below:

	 I.	 Kalibanga	 II.	 Lothal
	 III.	 Alamgirpur	 IV.	 Hulas
		  Codes:
	 (a)	 I, II, III, IV	 (b)	 I, II
	 (c)	 II, III	 (d)	 III, IV
	 89.	 Which of the following institutions belonged to 

foreign trade?
	 (a)	 Śreni	 (b)	 Nagaram
	 (c)	 Nānādesis 	 (d)	 Manigrama
	 90.	 Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R).
		  Assertion (A): Many Sanskrit works on music 

were translated into Persian during the medieval 
period.

		  Reason (R): The early chisti sufis were fond of 
musical assemblies called, 'sama'.

		  Select the correct answer from the codes given 
below:

		  Codes:
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A).
	 (b)	 Both (A) and (R) are true, but (R) is not the 

correct explanation of (A).
	 (c)	 (A) is true, but (R) is false.
	 (d)	 (A) is false, but (R) is true.
	 91.	 Which of the following inscriptions gives the 

information about two Ashwamedha Yajnas 
performed by the King Pushyamitra Shung?

	 (a)	 Saranath inscription
	 (b)	 Besnagar inscription
	 (c)	 Ayodhya inscription
	 (d)	 Hathigumpha inscription
	 92.	 The term 'chakla' has been used in Medieval Indian 

History sources. This was
	 (a)	 Identical to Paragnah
	 (b)	 Identical to Sarkar
	 (c)	 Territorial unit between Subah and Paragnah, 

but not identical to Sarkar
	 (d)	 None of the above
	 93.	 The Maratha claim of revenue for protection is 

known by what name?
 	 (a)	 Sardesh Mukhi 	 (b)	 Chauth
	 (c)	 Abwab	 (d)	 Jamadani
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	94-	fnYyh esa iqjkuk fdyk ds lkeus '•S#y eathy' uked 
efLtn dk fuekZ.k fdlus djok;k Fkk\

	 (a)	 gehnk ckuw csxe	 (b)	 lyhek lqYrku

 	 (c)	 thth vaxk	 (d)	 ekge vuxk

	95-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gS \
		  LFkku		 usr`Ro

	 (a)	 laHkyiqj	 	lqjsUnj lkgh

	 (b)	 xatke	 	jk/kÑ".k n.Mlsuk

	 (c)	 d'ehj	 	xqykc flag

	 (d)	 y•uÅ	 	fy;kdr vyh

	96-	fuEufyf•r ;qXeksa esa dkSu lgh lqesfyr ugha gS \
		  fj;klr		 'kkld

	 (a)	 nsofxjh	 	'kadj nso

	 (b)	 okjaxy	 	jkepUæ nso

	 (c)	 gks;ly	 	ohj cYyky

	 (d)	 enqjk	 	ohj ik.MÔk

	97-	fuEufyf•r dks dkykuqØe esa O;ofLFkr dhft, vkSj 
uhps fn;s x;s dwV ls lgh mÙkj dk p;u dhft, A

	 A.	 eqgEen 'kkg	 B.	tgkankj 'kkg

	 C.	 vyexhj	 D.	vgen 'kkg

	 	dwV%
	 (a)	 A		  C	 D	 B
	 (b)	 B		  A	 D	 C 
	 (c)	 C		  A	 B	 D 
	 (d)	 D		  B	 C	 A

	98-	Hkkjr ds fuEufyf•r jkT;ksa esa ls fdldh rVjs•k lcls 
yEch gS\

	 (a)	 egkjk"Vª 	 (b)	 vkU/z çns'k

	 (c)	 dsjy	 (d)	 xqtjkr

	99-	mÙkj çns'k dh fuEufyf•r ufn;ksa esa dkSulh i;kZoj.k 
çnw"k.k ds dkj.k 'tSohd vkink' ?kksf"kr gks x;h gS\

	 (a)	 ;equk	 (b)	 xkserh

	 (c)	 lbZ	 (d)	 relk

	100-	fo'o çfl¼ Hkxoku osadVs'oj (fr#ifr) dk eafnj 
fuEufyf•r igkfM+;ksa esa fdlesa vofLFkr gS\

	 (a)	 'ksojk;	 (b)	 fcyhfxfjjaxk

	 (c)	 tkoknh	 (d)	 eYyeYyk

	101-	jktLFkku e#LFky vFkok Fkkj e#LFky fuEufyf•r esa 
fdldk foLrkj gS\

	 (a)	 Iyhvkslhu

	 (b)	 iSfy;kslhu

	 (c)	 IyhLVkslhu ,oa vfHkuo teko

	 (d)	 vksfyxkslhu

	 94.	 The mosque-the Khayr-ul-manzil opposite to the 
Purana Qila in Delhi was constituted by whom?

	 (a)	 Hamida Banu Begum	(b)	 Salima Sultan
	 (c)	 Jiji Anga	 (d)	 Maham Anaga
	 95.	 Which of the following pairs is NOT S correctly 

matched?
		  Place		  Leadership
	 (a)	 Sambhalpur		  Surender Sahi
	 (b)	 Ganjam		  Radhakrishna
				    Dandsena
	 (c)	 Kashmir		  Gulab Singh
	 (d)	 Lucknow		  Liyaqat Ali
	 96.	 Which of the following pairs is NOT correctly 

matched? 
		  State		  Ruler
	 (a)	 Devgiri		  Shankar Dev
	 (b)	 Warangal		  Ramchandra Dev
	 (c)	 Hoysal		  Veer Ballal
	 (d)	 Madura		  Veer Pandya
	 97.	 Arrange the following into chronological order and 

select the correct answer from the codes given 
below:

	 A.	 Muhammad Shah	 B.	 Jahandar Shah
	 C.	 Alamgir II	 D.	 Ahmadshah
		  Codes:
	 (a)	 A		  C	 D	 B
	 (b)	 B		  A	 D	 C 
	 (c)	 C		  A	 B	 D 
	 (d)	 D		  B	 C	 A
	 98.	 Which of the following States of India has the 

longest coastline ?
	 (a)	 Maharashtra	 (b)	 Andhra Pradesh
	 (c)	 Kerala	 (d)	 Gujarat
	 99.	 Which of the following rivers of Uttar Pradesh has 

been declared a 'Biological Disaster due to 
environmental pollution?

	 (a)	 Yamuna	 (b)	 Gomati
	 (c)	 Sai	 (d)	 Tamsa
	100.	 In which of the following hills the world famous 

temple of Lord Venkateshwar (Tirupati) is located?
	 (a)	 Shevaroy	 (b)	 Biligiriranga
	 (c)	 Javadhee	 (d)	 Mallmalla
	101.	 Rajasthan desert or Thar desert is the expanse of 

which of the following?
	 (a)	 Pliocene
	 (b)	 Paleocene
	 (c)	 Pleistocene and recent deposits
 	 (d)	 Oligocene
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	102-	Hkkjr dh fuEufyf•r ufn;ksa esa dkSu if'peh ?kkV ls 
ugha fudyrh gS\

	 (a)	 xksnkojh	 (b)	 rkIrh @ rkih

	 (c)	 dkosjh	 (d)	 dcke

	103-	^oSf'od xkao* dh ladYiuk dk fodkl vk/kfjr gS
	 (a)	 lkekftd fodkl

	 (b)	 jktuSfrd fodkl

	 (c)	 ifjogu ,oa lapkj dk fodkl

	 (d)	 varjkZ"Vªh; laxBu

	104-	fuEufyf•r ns'kksa esa fdlesa çfr xk; nqX/ dk vkSlr 
okf"kZd mRiknu lokZf/d gS\

	 (a)	 uhnjyS.M~l	 (b)	 xzsV fczVsu

	 (c)	 MsuekdZ	 (d)	 Hkkjr

	105-	2011 dh tux.kuk ds vuqlkj mÙkj çns'k ds fuEufyf•r 
tuinksa esa fdlesa efgyk lk{kjrk nj lcls de gS \

	 (a)	 jkeiqj	 (b)	 cyjkeiqj

	 (c)	 JkoLrh	 (d)	 cgjkbp

	106-	Hkkjr ds fofHkUu {ks=kksa esa mRikfnr lqYrkuk] xqykch vkSj 
dkyh pEik fuEufyf•r çeq• iQyksa esa fdl dh fdLesa 
gSa\

	 (a)	 'kjhiQk	 (b)	 larjk

	 (c)	 ve:n	 (d)	 vaxwj

	107-	fuEufyf•r jkT;ksa esa dkSu byk;ph ,oa dkyh fepZ dk 
lcls cM+k mRiknd gS\

	 (a)	 rfeyukMq	 (b)	 xksok

	 (c)	 dsjy	 (d)	 egkjk"Vª

	108-	lwph&I vkSj lwph&II dk feyku dhft, vkSj lwph ds 
uhps fn;s x;s dwV ls lgh mÙkj dk p;u dhft,A 

		  lwph&I		  lwph&II

		  jkT;		 lcls Åaph pksVh

	 A.	 dsjy	 1-	nksîók csêðk

	 B.	 ukxkyS.M	 2-	uUnk nsoh

	 C.	 mÙkjk•.M	 3-	vukbZ eqfn

	 D.	 rfeyukMq	 4-	lkjkefr

	 	dwV %
		  A		  B	 C	 D
	 (a)	 1		  3	 4	 2
	 (b)	 2		  3	 4	 1
	 (c)	 3		  4	 2	 1
	 (d)	 1		  2	 3	 4

	109-	fuEufyf•r ns'kksa esa dkSu&lk fo'o esa vk;ksMhu dk 
vx.kh mRiknd gS\

	 (a)	 tiku	 (b)	 la- jkT; vesfjdk

	 (c)	 fpyh	 (d)	 phu

	102.	 Which of the following rivers of India does NOT 
originate from the Western Ghats ?

	 (a)	 Godavari	 (b)	 Tapti/Tapi
	 (c)	 Kaveri	 (d)	 Kabam
	103.	 The development of the concept of 'Global Village' 

is based on
	 (a)	 Social development
	 (b)	 Political development
	 (c)	 Transport and Communication Development
	 (d)	 International organisations
	104.	 Which of the following countries has the maximum 

production of milk per cow?
	 (a)	 Netherlands 	 (b)	 Great Britain 
	 (c)	 Denmark	 (d)	 India
	105.	 Which of the following districts of Uttar Pradesh 

has the lowest female literacy rate as per 2011 
census?

	 (a)	 Rampur	 (b)	 Balrampur
	 (c)	 Shrawasti	 (d)	 Bahraich
	106.	 The Sultana, Gulabi and Kali Champa varieties in 

different regions of India are varieties of which of 
the following major fruits?

	 (a)	 Custard Apple 	 (b)	 Orange
	 (c)	 Guava	 (d)	 Grapes
	107.	 Which of the following States is the largest 

producer of cardamom and pepper in India?
	 (a)	 Tamil Nadu 	 (b)	 Goa
	 (c)	 Kerala	 (d)	 Maharashtra
	108.	 Match List-I and List-II and select the correct 

answer using the codes given below the list:
		  List - I		  List - II
		  States		  Highest Peak
	 A.	 Kerala	 1.	 Dodda Betta
	 B.	 Nagaland	 2.	 Nand Devi
	 C.	 Uttarakhand	 3.	 Anai Mudi
	 D.	 Tamil Nadu	 4.	 Saramati
		  Codes:
		  A		  B	 C	 D
	 (a)	 1		  3	 4	 2
	 (b)	 2		  3	 4	 1
	 (c)	 3		  4	 2	 1

	 (d)	 1		  2	 3	 4

	109.	 Which of the following countries is the leading 
producer of lodine in the world?

	 (a)	 Japan	 (c)	 Chile
	 (b)	 U.S.A.	 (d)	 China
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	110-	2011 dh tux.kuk ds vuqlkj] fuEufyf•r jkT;ksa esa 
fdlesa xzkeh.k ,oa 'kgjh nksuksa {ks=kksa esa f'k'kq fyax vuqikr 
U;wure gS \

	 (a)	 mÙkj çns'k	 (b)	 dsjy

	 (c)	 gfj;k.kk	 (d)	 tEew ,oa d'ehj

	111-	2011 dh tux.kuk ds vuqlkj fuEufyf•r jkT;ksa esa ls 
fdldh xzkeh.k tula[;k lokZf/d gS \

	 (a)	 eè; çns'k	 (b)	 egkjk"Vª

	 (c)	 iatkc	 (d)	 mÙkj çns'k

	112-	fuEu ?kVukvksa ij fopkj dhft,%

	 1-	 igyk ljhl`i	 2-	igyk dhV

	 3-	 dopokys tho	 4-	igyk Lru/kjh

	 	mijksDr ?kVukvksa dks i`Foh ij muds mRiUu gksus ds 
dkyØekuqlkj O;ofLFkr dhft, rFkk uhps fn, dwVksa esa 
ls lgh mÙkj dk p;u dhft,A

	 	dwV %
		  A		  B	 C	 D
	 (a)	 2		  1	 3	 4
	 (b)	 2		  3	 1	 4
	 (c)	 3		  2	 1	 4
	 (d)	 2		  4	 1	 3

	113-	^orZeku esa tula[;k ds lq•ksa dk ifjR;kx fd;s fcuk 
Hkfo"; ds fy, ÅtkZ rFkk vU; lalk/uksa dh cpr* 
fuEu esa ls dkSu&lh vo/kj.kk dh ifjHkk"kk gS\

	 (a)	 vkfFkZd o`f¼	 (b)	 vkfFkZd fodkl

	 (c)	 lEiks"k.kh; fodkl 	 (d)	 ekuo fodkl

	114-	fo'o tula[;k fnol euk;k tkrk gSA

	 (a)	 11 tqykbZ dks	 (b)	 8 ebZ dks

	 (c)	 5 twu dks	 (d)	 16 vDVwcj dks

	115-	fuEukafdr esa dkSu Hkkjr esa xjhch js•k dk fu/kZj.k djrk 
gS\

	 (a)	 dsUæh; ea=kheaMy

	 (b)	 yksd lHkk

	 (c)	 jkT; lHkk

	 (d)	 ;kstuk vk;ksx (vc uhfr vk;ksx )

	116-	fuEufyf•r jkT;ksa esa dkSu lM+dksa dh yEHkkbZ esa Hkkjr 
esa çFke ik;nku ij gS\

	 (a)	 egkjk"Vª	 (b)	 mÙkj çns'k

	 (c)	 eè; çns'k	 (d)	 jktLFkku

	117-	Hkkjr esa çR;{k dj dksM fuEufyf•r esa fdlls lacaf/r 
gS\

	 (a)	 fcØh dj	 (b)	 vk; dj

	 (c)	 mRikn dj	 (d)	 lsok dj

	110.	 According to 2011 census, which of the. following 
states has the lowest child sex-ratio both in Rural 
and Urban areas?

	 (a)	 Uttar Pradesh	 (b)	 Kerala
	 (c)	 Haryana	 (d)	 Jammu & Kashmir
	111.	 According to 2011 census, which of the following 

states has the largest rural population?
	 (a)	 Madhya Pradesh	 (b)	 Maharashtra
	 (c)	 Punjab	 (d)	 Uttar Pradesh
	112.	 Consider the following events.
	 1.	 First reptiles	 2.	 First insects
	 3.	 Shelled animals	 4.	 First mammals.
		  Arrange the above events in Chronological order 

of their origin on the earth and select the correct 
answer from the codes given below:

		  Codes:
		  A		  B	 C	 D
	 (a)	 2		  1	 3	 4
	 (b)	 2		  3	 1	 4
	 (c)	 3		  2	 1	 4

	 (d)	 2		  4	 1	 3

	113.	 'Saving energy and other resources for the future 
without sacrificing people's comfort in the present' 
is the definition of which of the following 
concepts?

 	 (a)	 Economic growth
	 (b)	 Economic development
	 (c)	 Sustainable development
	 (d)	 Human development
	114.	 World Population Day is observed on
	 (a)	 11 July	 (b)	 8 May
	 (c)	 5 June	 (d)	 16 October
	115.	 Which of the following fixes the poverty line in 

India?
	 (a)	 Central Council of Ministers
 	 (b)	 Lok Sabha
	 (c)	 Rajya Sabha
	 (d)	 Planning Commission (Now Niti Ayog)
	116.	 Which of the following States ranks first in India 

in length of roads?
	 (a)	 Maharashtra	 (b)	 Uttar Pradesh
	 (c)	 Madhya Pradesh	 (d)	 Rajasthan
	117.	 Direct Tax Code in India is related to which of the 

following?
	 (a)	 Sales Tax	 (b)	 Income Tax
	 (c)	 Excise Tax	 (d)	 Service Tax
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	118-	^xzhu ihl baVjus'kuy* dk eq[;ky; fLFkr gS

	 (a)	 ,ElVMZe esa	 (b)	 dSucjk esa

	 (c)	 vksVkok esa	 (d)	 ukxklkdh esa

	119-	Hkkjr ljdkj }kjk ?kksf"kr ̂ , ch lh* baMsDl fuEufyf•r 
esa fdlls lacaf/r gS\

	 (a)	 Ñf"k 	 (b)	 lapkj

	 (c)	 LokLF; 	 (d)	 f'k{kk

	120-	la;qDr jk"Vª ds vkfFkZd ,oa lkekftd ekeyksa ds foHkkx 
(UN-DESA) ds vuqlkj fo'o dk dqy tula[;k dk 
fdruk çfr'krka'k 'kgjh {ks=kksa esa fuokl djrk gS\

	 (a)	 25	 (b)	 35

	 (c)	 45	 (d)	 55

	121-	fuEufyf•r esa dkSu f}rh;d çnw"kd gS \

	 (a)	 Leksx

	 (b)	 dkcZuMkbZ&vkDlkbM

	 (c)	 dkcZu eksuks&vkDlkbM

	 (d)	 ÝykbZ ,s'k

	122-	fuEufyf•r ikfjfLFkfr dh ra=kksa esa fdlesa çtkfr; 
fofo/rk lkis{kr% dkiQh vf/d gksrh gS\

	 (a)	 xgjs leqæ

	 (b)	 m".k dVhcU/h; o"kkZ ou

	 (c)	 dksjy jhiQ

	 (d)	 e#LFky

	123-	fuEufyf•r esa dkSu dhVksa ls çkIr ugha gksrk gS \

	 (a)	 js'ke	 (b)	 'kgn

	 (c)	 yk•	 (d)	 eksrh

	124-	fuEufyf•r esa dkSu lkekU; ifjfLFkfr esa o`{k ds iÙkksa 
dh ljljkgV dk Mslhcy Lrj çnf'kZr djrk gS\

	 (a)	 10 db	 (c)	 60 db

	 (b)	 20 db	 (d)	 100 db

	125-	tyok;q ifjorZu ij la;qDr jk"Vª dk lEesyu COP21 
vk;ksftr gqvk Fkk

	 (a)	 ekLdks esa	 (b)	 isfjl esa

	 (c)	 cfyZu esa	 (d)	 Vksfd;ks esa

	126-	tyok;q ifjorZu ij Hkkjr dh çFke jk"Vªh; dk;Z ;kstuk 
dc yksdkfiZr dh x;h Fkh\

	 (a)	 2000 esa	 (b)	 2008 esa

	 (c)	 2012 esa	 (d)	2015 esa

	127-	lcls vf/d fLFkj ikfjfLFkfrdh ra=k dkSu&lk gS\

	 (a)	 lkxjh; (egklkxj)	 (b)	 cu

	 (c)	 ioZrh;	 (d)	 e#LFkyh;

	118.	 The Headquarters of the 'Green Peace International' 
is located at

	 (a)	 Amsterdam	 (b)	 Canberra
	 (c)	 Ottawa	 (d)	 Nagasaki
	119.	 ABC Index announced by the Government of India 

is associated with which of the following?
	 (a)	 Agriculture	 (b)	 Communication
	 (c)	 Health 	 (d)	 Education
	120.	 According to the UN Department of Economic and 

Social Affairs (UN-DESA) what percentage of 
world's total population is currently living in urban 
areas?

	 (a)	 25	 (b)	 35
	 (c)	 45	 (d)	 55
	121.	 Which among the following is the secondary 

pollutant?
	 (a)	 Smog
	 (c)	 Carbon mono-oxide
	 (b)	 Carbondioxide
 	 (d)	 Fly ash
	122.	 In which of the following ecosystems the species 

diversity is relatively higher ?
	 (a)	 Deep sea
	 (b)	 Tropical rain forest
	 (c)	 Coral reefs
	 (d)	 Desert
	123.	 Which of the following is NOT obtained from 

insects?
	 (a)	 Silk	 (b)	 Honey
	 (c)	 Lac	 (d)	 Pearl
	124.	 Which of the following represents the decibel level 

of rustling of tree leaves in normal circumstance?
	 (a)	 10 db	 (b)	 20 db
	 (c)	 60 db	 (d)	 100 db
	125.	 United Nations Conference on climate change, 

COP21 was held in
	 (a)	 Moscow	 (b)	 Paris
	 (c)	 Berlin	 (d)	 Tokyo
	126.	 When was India's first National Action Plan on 

Climate Change released?
	 (a)	 2000	 (b)	 2008
	 (c)	 2012	 (d)	 2015
127. Which is the most stable ecosystem ?
	 (a)	 Marine (ocean)	 (b)	 Forest
	 (c)	 Mountain	 (d)	 Desert
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	128-	bUlhujsVlZ dk ç;ksx fuEufyf•r esa fdlds fy, fd;k 
tkrk gS\

	 (a)	 dwM+k dpjk dks tykus ds fy,

	 (b)	 dwM+k dpjk dks buesa j•us ds fy,

	 (c)	 gjs isM+ksa dks dkVus ds fy,

	 (d)	 •kn cukus ds fy,

	129-	^gfjr x`g çHkko* D;k gS\
	 (a)	 oSf'od rki esa o`f¼

	 (b)	 oSf'od rki esa deh

	 (c)	 lkxj ty ds rki esa o`f¼

	 (d)	 ufn;ksa ,oa f>yksa ds rki esa o`f¼

	130-	fuEufyf•r esa dkSu çkÑfrd xSl dk eq[; Hkkx gS\
	 (a)	 bFksu

	 (b)	 C;wVsu

	 (c)	 dkcZu eksuksvkDlkbM

	 (d)	 feFksu

	131-	i'kqvksa dks fn;k tkusokyk dkSu&lk nnZ fuokjd Hkkjr 
esa fx¼ksa ds yxHkx foyqIr gksus ds fy, mÙkjnk;h gS\

	 (a)	 vkbcwçksiQsu	 (b)	 ,flVkfeuksiQsu

	 (c)	 ,lfçu	 (d)	 fMDyksfiQusd

	132-	fuEufyf•r ns'kksa esa dkSu&lk 2015 esa lokZf/d CO2 
dk mRltZd Fkk\

	 (a)	 phu	 (b)	la-jk- vesfjdk

	 (c)	 Hkkjr	 (d)	 Úkal

	133-	fuEu esa ls dkSu&ls dFku lgh gSa \
	 1-	 çkÑfrd vkink,¡ lokZf/d {kfr fodkl'khy ns'kksa 

esa djrh gSaA

	 2-	 Hkksiky xkWl =kklnh ekuo&fufeZr FkhA

	 3-	 Hkkjr vkink ;qDr ns'k gSA

	 4-	 eSUxzkso pØokrksa dk çHkko de djrs gSaA

	 	uhps fn, dwVksa esa ls lgh mÙkj pqfu, A
	 	dwV%
	 (a)	 1] 2 rFkk 3	 (b)	2] 3 rFkk 4

	 (c)	 1] 2 rFkk 4	 (d)	1] 3 rFkk 4

	134-	fuEufyf•r esa fdldk osx vf/dre gksrk gS\
	 (a)	 dkfLed fdj.k	 (b)	 çdk'k

	 (c)	 bysDVªku	 (d)	 ijkèofud rjax

	135-	xzSiQhu gksrk gSA
 	 (a)	 dkcZu dh feJ /krq

	 (b)	 dkcZu dk uSuks çfr:i

 	 (c)	 dkcZu dk leLFkkfud

 	 (d)	 mijksDr esa dksbZ ugha

	128.	 Incinerators are used for which of the following?
	 (a)	 Burning wastes
	 (b)	 Putting wastes into them 
	 (c)	 For cutting green trees
 	 (d)	 For making fertilizers
	129.	 What is 'Green House Effect"?
	 (a)	 Increase in global temperature
	 (b)	 Decrease in global temperature
	 (c)	 Increase in sea water temperature
	 (d)	 Increase in temperature of rivers and lakes
	130.	 Which of the following is the main component of 

the natural gas?
	 (a)	 Ethane
	 (b)	 Butane
	 (c)	 Carbon mono-oxide
	 (d)	 Methane
	131.	 Which pain killer given to cattle is responsible for 

near extinction of vultures in India?
	 (a)	 Ibuprofen
	 (b)	 Acetaminophen
	 (c)	 Asprin
	 (d)	 Diclofenac
	132.	 Which of the following countries was the largest 

emitter of CO2 in 2015?
	 (a)	 China	 (b)	 U.S.A.
	 (c)	 India	 (d)	 France
	133.	 Which of the following statements are true ?
	 1.	 Natural disasters cause maximum damage 

in developing countries.
	 2.	 Bhopal gas tragedy was man-made.
	 3.	 India is a disaster free country.
	 4.	 Mangroves reduce the impact of cyclones.
		  Select the correct answer from the codes given 

below:
		  Codes:
	 (a)	 1, 2 and 3	 (b)	 2, 3 and 4
	 (c)	 1, 2 and 4	 (d)	 1, 3 and 4
	134.	 Which of the following has the highest velocity?
	 (a)	 Cosmic rays	 (b)	 Light
	 (c)	 Electron	 (d)	 Supersonic wave
	135.	 Graphene is
	 (a)	 An alloy of carbon
	 (b)	 Nano structure of carbon
	 (c)	 Isotope of carbon
	 (d)	 None of the above
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	136-	èofu dk osx vf/dre gksxk

	 (a)	 fuokZr esa	 (b)	 ok;q esa

	 (c)	 ty esa	 (a)	 bLikr esa

	137-	/qvk¡ esa vk¡•ksa dks çHkkfor djus okyk dkSu&lk 
'kfDr'kkyh mÙksT; gksrk gS\

	 (a)	 vkstksu

	 (b)	 lYiQj MkbZvkDlkbZM

	 (c)	 dkcZu MkbZ vkDlkbZM

	 (d)	 isjkDlh,lhVkbZy ukbZVªsV

	138-	', czhiQ fgLVjh vkWiQ Vkbe' uked iqLrd fdlus fy•h 
gS\

	 (a)	 LVhiQu gkWfdax }kjk

	 (b)	 ts- oh- ukyhZdj }kjk

	 (c)	 lh-oh- jkeu }kjk

	 (d)	 ,l- cksl }kjk

	139-	fuEufyf•r esa dkSu foVkfeu C dk lcls vPNk lzksr 
gS\

	 (a)	 larjk	 (b)	 lso

	 (c)	 xktj	 (d)	 vk¡oyk

	140-	fuEufyf•r xzgksa esa dkSu thou ds vfLrRo ds fy, 
mi;qDr gks ldrk gS\

	 (a)	 eaxy	 (b)	 cq/

	 (c)	 'kqØ	 (d)	 c`gLifr

	141-	vkbuLVkbu dks fuEu esa ls muds fdl fl¼kar ds fy, 
ukscsy iqjLdkj fn;k x;k Fkk\

	 (a)	 lkis{krk ds fl¼kUr ds fy,

	 (b)	 çdk'k fo|qr ds fl¼kUr ds fy,

	 (c)	 fof'k"V m"ek ds fl¼kUr ds fy,

	 (d)	 czkmfu;u xfr ds fl¼kUr ds fy,

	142-	fuEufyf•r mtkZ lzksrksa esa ls dkSu i;kZoj.kh; çnw"k.k 
ugha mRiUu djrk gS \

	 (a)	 ukfHkdh; mtkZ

	 (b)	 lkSj mtkZ

	 (c)	 isVªksfy;e mtkZ

	 (d)	 dks;yk mtkZ

	143-	jkT; ds uhfr funZs'kd rRo lgt vè;;u ds fy, fuEu 
esa ls dkSu ls Hkkxksa esa foHkkftr fd;s tk ldrs gS\

	 (a)	 lektoknh

	 (b)	 mnkj ckSf¼drkoknh

	 (c)	 xka/hoknh

	 (d)	 mijksDr lHkh

	136.	 The sound will have highest velocity in
	 (a)	 Vacuum	 (b)	 Air
	 (c)	 Water	 (d)	 Steel
	137.	 A powerful eye irritant in the smoke is
	 (a)	 Ozone
	 (b)	 Sulphur dioxide
	 (c)	 Carbon dioxide
	 (d)	 Peroxyacetyle nitrate
	138.	 The book 'A Brief History of Time' has been written 

by whom?
	 (a)	 Stephen Hawking
	 (b)	 J.V. Narlikar
	 (c)	 C.V. Raman
	 (d)	 S. Bose
	139.	 Which of the following is the richest. source of 

Vitamin C?
	 (a)	 Orange
	 (b)	 Apple
	 (c)	 Carrot
	 (d)	 Amla
	140.	 Which of the following planets may be suitable 

for existence of life?
	 (a)	 Mars
	 (b)	 Mercury
	 (c)	 Venus
	 (d)	 Jupitor
	141.	 Einstein was award Nobel Prize for of his theories
	 (a)	 Theory of relativity
	 (b)	 Theory of photo electricity
	 (c)	 Theory of specific heats
	 (d)	 Theory of Brounian motion
	142.	 Which of the following energy sources produces 

NO atmospheric pollution?
	 (a)	 Nuclear energy
	 (b)	 Solar energy
	 (c)	 Petroleum energy
	 (d)	 Coal energy
	143.	 The Directive Principles of State Policy may be 

classified in to which of the following parts for the 
sake of convenient study?

	 (a)	 Socialist
	 (b)	 Liberal intellectualistic
	 (c)	 Gandhian
	 (d)	 All of the above
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	144-	fuEufyf•r esa fdls v'kksd pUæk }kjk Hkkjr eas ̂ vkfFkZd 
eaf=kifj"kn* dgk x;k\

	 (a)	 ;kstuk vk;ksx

	 (b)	 foÙk vk;ksx

	 (c)	 dsUæh; eaf=kifj"kn

	 (d)	 ç'kklfud lq/kj vk;ksx

	145-	Hkkjrh; U;kf;d O;oLFkk esa tc tufgr ;kfpdk dks 
'kkfey fd;k x;k ml le; Hkkjr ds eq[; U;k;k/h'k 
dkSu Fks\

	 (a)	 ,e- fgnk;rqYyk

	 (b)	 ,- ,e- vgenh

	 (c)	 ih- ,u- Hkxorh

	 (d)	 ,- ,l- vkuUn

	146-	^n ,DlhMsaVy çkbe fefuLVj* iqLrd ds ys•d dkSu 
gS\

	 (a)	 jktnhi ljnslkbZ

	 (b)	 dju Fkkij

	 (c)	 dqynhi uk;j

	 (d)	 lat; ck:

	147-	Hkkjr dh lafo/ku lHkk dh vafre cSBd dh lgh frfFk 
crkb,A

	 (a)	 26 uo- 1949	 (b)	 5 fnl- 1949

	 (c)	 24 tu- 1950	 (d)	 25 tu- 1950

	148-	fuEufyf•r esa fdls Hkax ugha fd;k tk ldrk ij lekIr 
fd;k tk ldrk gS\

	 (a)	 yksdlHkk	 (b)	 jkT; lHkk

 	 (c)	 fo/ku lHkk	 (d)	 fo/ku ifj"kn

	149.	Hkkjr ljdkj }kjk ^efgyk ,oa ckyfodkl* ds fy, 
Lora=k ea=kky; dc LFkkfir fd;k x;k\

	 (a)	 1985	 (b)	 1986

	 (c)	 1987	 (d)	 1988

	150-	yksd lHkk esa dsUæ 'kkflr {ks=kksa dk lokZf/d çfrfuf/Ro 
fdruk gks ldrk gS\

	 (a)	 15

	 (b)	 20

	 (c)	 25

	 (d)	 mijksDr esa ls dksbZ ugha

	144.	 Which of the following was called as Economic 
cabinet of India by Ashok Chandra?

	 (a)	 Planning Commission
	 (b)	 Finance Commission
	 (c)	 Central Cabinet
	 (d)	 Administrative Reform Commission
	145.	 Who was the Chief Justice of India when Public 

Interest litigation was introduced in the Indian 
Judicial system?

	 (a)	 M. Hidayatullah
	 (b)	 A.M. Ahmedi
	 (c)	 P.N. Bhagwati
	 (d)	 A.S. Anand
	146.	 Who is the author of the book "The Accidental 

Prime Minister" ?
	 (a)	 Rajdeep Sardesai
	 (b)	 Karan Thapar
	 (c)	 Kuldeep Nayar
	 (d)	 Sanjaya Baru
	147.	 Mention the correct date of the last meeting of the 

Constituent Assembly of India.
	 (a)	 26 Nov. 1949 	 (b)	 5 Dec. 1949
	 (c)	 24 Jan. 1950 	 (d)	 25 Jan. 1950
	148.	 Which of the following CAN NOT be dissolved 

but abolished?
	 (a)	 House of People
	 (b)	 Council of State
 	 (c)	 Legislative Assembly
	 (d)	 Legislative Council
	149.	 When did the Government of India establish the 

independent Ministry for 'Women and Child 
Development' ?

	 (a)	 1985	 (b)	 1986
	 (c)	 1987	 (d)	 1988
	150.	 What can be the maximum representation from the 

Union Territories to the Lok Sabha ?
	 (a)	 15
	 (b)	 20
	 (c)	 25
	 (d)	 None of the above


